6x—5=-x+4

6x+x=4+0O

©) I @ 4

@ -4

6x—5=—-x+4

6x+x=4+5
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2x +4 = 10~4x
@2x+4x:10—4 @ 2x-4x=10+4
® 2x+4x=10+4 @ 2x+4x=-10-4

® 2x-4x=10-4

2x + 4x = 10 — 4 o|th,




-2x+5="7-5x
DO -2x+5x=T74+5 @ -2x-5x=7-5
® -2x-5x=7+5 @ -2x+5x=-7-5

@—2)6—1—5)6:7—5

-2x+5x=7-5




+1=2 @ x+1=-x+1

@x2+3x:1 @2(x—1)=—1+2x

® x% +3x=1: "9 Faapgto] )7} oyt
@2x-2=-142x > 2x-2x = -1+2 - 0 = 1 (LA A 0]
ofytt.)




@—4x+9=9—4x

@® 3x-2=5x+38

® 2x2 -7

@ xX>+5x+6=x>+1

x(2x-3)

@x2+x) =20x+1)
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@ x=1

@ x=-1

® x=3

bx—4x+4=8-x

Lx=2
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D 2x+3=1—2x=1-3

@ 2x4+T7T=x+1—-2x—-x=1-7

® 5x+10=2x+1—5x-2x+10=1

@)10=3x+1—3x+1=10

=0—21 =3x

® 21-3x
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@ 2%x—3=1 > 2x=1-3
@ 3x=5-2x »>3x-2x=5

® 2x=8+x - 2x+x=38
@5x+2=4 — bx=4-2

® 2x+1=-x+4-> 2x+x=4+1
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@3x+5x=—2+1

D 3x-5x=-2+1

@ 3x+5x=-2-1

® 3x-5x=-2-1

® 3x+5x=2-1

3x—1=-5x—2

Ix+5x=-2+1
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HIAJA 5y -8 = 2x+ 95
a+ b2 F& otz (P

ol

aShb

o]-gst] ax = b EE 11
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5x—2x=9+8
3x=17
La=3,b=17

Sa+b=20
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@ 4x-8=0 © 6x-5

1
® x*-3=2x @EX—3:5
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@ 4x—8=0: YA ol
© 6x -5 : TA0] o2 2 AxA o] ofrirt,
© x*-3=2x: 0¥ 2
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® 5x-3=5 Aol
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@ 3x-2=7 O 3x=2x-1
© 3x-2=x+14 ® x2=3x+2

@ 2x% -2 =3x+ 2x2

O1A @274 @30 @4711 ® 5 7

@, ©, ©, @4 LAFHEA
@ x* =3x+2: oA A
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6x—3=x+12

ox =15
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6x—4+3=4x-6
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Adx-32x-1)=5%5
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D x=1

® x=3

@ x=-4

4x—-6x+3 =5




17.

Zroll B0l 48 A2 2 52

@ 77 27 _87 -4 @ 7’ 87 _871
@ -7,8,-8,-1 ® -7.8,-8,1

(@)7, 8,-8,-1

B

3x+7=-5x-1
3x+bx=-1-7
8x = -8
Lx=-1

wtabA] HiZke ol 5 A2 2| 7,8,-8, -1 ©|th,




18. =AA 0.5x-1.2 = 0.2x+ 0.3 3| 7atH ?

@1 @ 2 ® 3 @ 4

~&B

Rl 10= &5H4,
S5x—12=2x+3
5x—2x =3+ 12

3x =15

L Xx=95H
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@® -2 @)-1 ® o0 @1

® 2

Frid 12 § FotH
8x+9=1

8x = -8

x=-1
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DO 4+2x=-3x>2x+3x=4
@—4x—3:x+1—>—4x—x=1+3
@ 3x-1=2x+1-3x+2x=1-1
@ —x-4=5x+2—>-x-bx=-2+4

® 3x=6x+11 - 3x+6x=11

B

D4+2x=-3x—>2x+3x=—4
@3x—-1=2x+1—>3x-2x=1+1
@ —x-4=5x+2—> —x-5x=2+14
®3x=6x+11 - 3x—6x=11




@® -11x=33—0=33+11x

@ 6x=x+20—6x-x=20

@7x—_8:3_x+12—>7x+3x:12+8

®7x-8=3x+12—7x-3x=12+8




25. WA x+4(x+1) = -10-2x 9] =2

D)x=-2 @ x=-1
® x=3

x+4(x+1)=-10-2x
x+4x+4=-10-2x
Tx = -14

Lox=-2




6x—14=3(5+3x)—6
6x—14=15+9x—6
3x = —23
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SoX = —E
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® 40

oFHof 10 & H5HH,
6x—20=x
5x = 20

Lx=4




® x=-2

=-10

®-

@ x=-15

® x=10

@ x=-2
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3(3x—4) = 10(x—4) + 30
9x—12 = 10x — 40 + 30

o= =2
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0.2x+0.4=-0.17x-0.34

@ x=-3 (@)x:—?

@ x=0 ® x=1

oF o] 100 < J5H4A
20x +40 = -17x— 34
37x = -T4

Lx=-2




